— ~~  ASSEMBLY INSTRUCTIONS
HOLLAND HOUSE ITEM NO: 1158-449-S

SIDE CHAIR / CHAISE

HARDWARE LIST/ LISTE DE QUINCAILLERIE
Long Bolt $1/4" x85 mm .
pcs
1 -m:@ 4 pieces
Boulon ¢1/4" x85 mm
Middle Bolt ¢1/4" x45 mm 7 pos
2 %) 7 pieces
Boulon ¢1/4" x45 mm
Spring Washer ¢5/16" x12 mm 1 pos
3 Rondelle de ressort @ 11 piéces
$5/16" x12 mm
Flat Washer $5/16" x19 mm 1 pos
4 - 11 pidces ASSEMBLY COMPLETED
Rondelle plate ¢5/16" x19 mm PART LIST/LISTE DE PIECES QTY' QTE
Allen Key 58 x 23 x 4 mm o CHAIR BACK - 1 PG
S =ﬂ 1 piece A ‘] 1 PIECE
Clé Allen 58 x 23 x 4 mm DOSSIER DE CHAISE —_—
SEAT 1PC
B 1 PIECE
SIEGE
FRONT LEG / »PCS
C cg/ 2 PIECES
\
PIEDS AVANT
D VELCRO e

©

Velcro

HARDWARE INSIDE

P.1/2




MADE IN VIETNAM
FABRIQUE AU VIETNAM

Velcro
©

— (q\] ™
oo ol o 0o
w| < Ww| < | <C
| = = = ==
|- wn|w 0w




	252382 AI (HOH 292) Model (1)
	252382 AI (HOH 292) Model (2)

